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pxample 4.10 Construct a triangle similar to a given triangle PQR with its sides equal to

= 3 of the corresponding sides of the triangle PQR (scale factor g ¢ 1) &

Solution Given a triangle PQR we are required to construct i

another triangle whose sides are % of the corresponding sides
of the triangle PQR.

Q R’ R
Steps of construction Rough diagram

P
1. Constructa APQR with any measurement.

2. Draw a ray QX making an acute angle with QR on the ,
side opposite to vertex P. ¥

3. Locate 5 (the greater of 3 and 5 in % ) points.
Q.,Q,,Q,,Q, and Q, on QX so that
QQ) Rt Q1Q2 - QQQ:; e Q3Q4 - Q4Q5 Q

4. Join QR and draw a line through Q (the third

Q

point, 3 being smaller of 3 and 5 in —) parallel to
Q.R to intersect QR at R’.

5. Draw line through R’ parallel to the line RP to

. Fig. 4.25
intersect QP at P’

i
Then, AP'QR’ is the required triangle each of whose sides is three- Er E
fifths of the C6Irld¢38p®hdl)mgr Sﬂl.d?&lﬁlgr@s}to(c}ﬁ email id - padasalai.net@gmail.com 8% SngK
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Time: 1.30 hrs,

!
1.

. 1f{(a,8), (

. T =

. Answer any 5 of the following : :
. IfAXxB{(3,2), (3,4),(5,2), (5,4)} then findAand B.

www.Padasalai.Net www.CBSEtips.in

FIRST MIDTERM TEST - 2022
Standard X Reg.No.

MATHEMATICS Marks: 50
Part-A

Choose the correct answer:

Ifn(AxB)=6 andA={1,3}then n(B)is

a1 - b) 2 ©)3 ' d) 6
6,b)} represents an identity function then the value of aand b re'spectiveiy
a) (8,6) b) (8,8) c) (6.8) d) (6,6)

LetA={1,2,34}and B ={4,8,9,10}. Afunction f: AsB givenby
f(1.4). (2.8), (3.9), (4.10))is a '

a) many-one function - b) identityfunction.
C) one-to-one function d) into furiction
_.(mod 100)

Ix1=7

a) 1 b) 2 )3 o d)4
- GivenF,=1,F,=3andF =F _ +F_,thenF,is |

a) 3 b) 5 )8 . d) 1

If 6 times of 6th i : ‘ '
e 67 term of an A.P is equal to 7 times of "term, then the 13" term of an

a0 b) 6 07 d) 13

Ifin triangle ABC and EDF, -S—E = % then they will be similar, when

a) ZB=ZE b) £A=/D c) £B= 4D d) ZA=/F
- Part-B '

5x2=10

9. ARelation Ris given bythe set{(x,y)/y=x+3, xe{0,1 2,3,4,5}}. Determine its domain

10.

11.
12.

13.
14.

and range.

A function f is defined by f(x) = 2x - 3, find -———f(-o);fm

Use Euclid's Division Algorithm to find HCF of 340 and 412.
If 13824 =22x 3°, thenfindaand b.

Find the number of terms inthe A.P 3,69,12,...111

Find the 8" term ofthe GP. 9,3 1,......
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.
15.

16.

.
18.

19.:

20.
21,

<
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(2) X Maths
Part-C ,
Answer any five - 2 ~ 5x5=25

LetA=The set of all natural numbers less than 8, B =The set of all prime numbers
less than 8, C = The set of even prime number. Verify that (AnB)XC =(Ax B) N (Ax C).

LetA={1,2.3,4} and B ={2,5,8,11,14} be two sets. Let f-A—>B be a function givenby
f(x)=3x-1. Represent this function.

(i) byAmow diagram ii) in atable form
iii) as a setof ordered pairs iv) in a graphical form

IFf(x) =2x +3,g(x) = 1~ 2x and h(x) = 3x, prove that fo(goh) = (fog)oh.
Find a,and a,, whose n® term is '

2

n .
n+3 » Niseven neN

a, =
2 : nisodd neN

n
2n+1

The sum of three consecutive terms thatarein A.Pis 27 and their productis 288. Find
the three terms, - - :

Find the sum to n terms of the series 5 + 55 + 555+ ...
Find the sum of 152+ 162+ 172+ +282

Answer the folloWing : - - ) 1x8=8

a) Construct atriangle similarto a given triangle PQR with its sides equalto 3/5 of -
the corresponding sides of the triangle PQR. (scale factor 3/5 < 1) ‘

(or)

b) Constructa triangle similar to a given triangle PQR with its sides equal to 7/3 of
the corresponding sides of the triangle PQR (scale factor 7/3 > 1 )

vedekded e
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